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1. Pleass wansfer the two following nuimbers into decimal:
{a) OFF7 % (hexadecimal) (B} 0110.01 {imany}  30%)
2. Plazae write the sing-and-magritude and fwo’s complament valnes of 1H1001LL
{109%)

. A 64.bit computer has 1GB {Gigabyies) memory:

i, Bow many byvtes is the memony? (3%)

H. How many bis are needed to address any singlc word in memory? (5%)
Plezse list and deseribe the three steges of prograw: executlon in CPU. (10%)
What are the five lavers of the TCP/IP protocol suite? Please also introduece their
funciions. (10%}

Please desciibe how the boot strapping process works. (1E%)
What are the concept and the purpess of "vistmal memony™? (1098)
Show the Excess_127 (single precision) representaticn using the IFEE stardard
floating-point format for the decimal number -597.2 {13%)
$. What sequence of munbers would be prinied by the frifowing recursive procadure
if we started it with N assigned 1he walue 17 {15%:;
Frocedure DITMP(N)

Print the vaiue of N;
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H {(N<3) then (apply the procedure DUMP 0 the value W+1);
Print the value of N+1.

103035







